B.U.P #2:  
Adaptations for winter in Saskatchewan organisms
Group size:
Individual

Due date:

Assignment:
There are three methods that animals in Saskatchewan use to survive the harsh winter climate – migration, hibernation/dormancy, and resistance.  In part one of this assignment, you will describe the risks and benefits of each method.  In the second part, you will choose four animals from each method (except for migration, where you will choose two).  You will then describe the following information for each animal:

· Its normal range in Saskatchewan.

· The type of habitat it requires.

· The ecological niche it occupies.

· What its food requirements are.

· Its reproductive behaviour.

· Behavioural and structural adaptations for survival.  (Two examples of each.)
· A picture of the animal.

· The seven taxonomic levels it occupies.

· A description of how it survives winter.  (This will be the most detailed portion of your report.)

· A resource list.

Special note:  You may not choose the black bear or Canada goose.

Marking:
Marks will primarily be based on how completely you have done this assignment.  A small portion of the marks will be based on creativity, neatness, spelling and grammar.
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